$$\frac{\left| \text{etwee X X X} \right|: $8.3 The Number e give function $g = e^{X}$ (31)

$$\frac{58.5}{58.5} The indical logarithm function
$$\frac{58.5}{58.5} Topulation quarthen
Recall: The above a xinal, we define $a^{X} = \lim_{t \to \infty} a^{X}$ (expendial)
there, $a^{T} = a^{\frac{24}{24}} = (Ta)^{T}$ where $Ta > 0$ is the unique positive solution to $y^{T}=a$
 $Free after : a^{X} : \mathbb{R} \longrightarrow \mathbb{R}_{>0} = 1g > 0$ is investible, with inverse
 $\log a : \mathbb{R}_{>0} \longrightarrow \mathbb{R}$ logarithm to the base $a (a^{\log a^{X}} = X d \log_{a} a^{X} = X)$
 $\frac{1}{91} \cdot \frac{2}{91} \cdot \frac$$$$$$$

.

$$e = \lim_{n \to \infty} (1 + \frac{1}{1!} + \frac{1}{2!} + \dots + \frac{1}{n!}) \quad (\operatorname{nectured} \operatorname{th} \overline{b} + \operatorname{decinal}^{\operatorname{th} \overline{b}}) \\ \text{places by setting } n=7) \\ \text{Observation:} \quad \frac{1}{dx} e^{x} = e^{x} \quad (all e^{x} + the exponential function) \\ \text{Tt's the unique solution to } \left\{ \frac{t'-f}{t_{tot}^{-2}} \right\} \\ \cdot \text{ In turn } \quad \frac{1}{dx} (ce^{x}) = c \frac{1}{dx} e^{x} = ce^{x} \quad also solves t'=f. \\ \text{Proportion } \quad \text{All solutions to } t'=f \quad are of the form f_{(x)} = ce^{x} \\ \text{for some parameter } c. \\ \text{Why? Consider a solution } f(x) = a \quad unite \quad g(x) = \frac{f(x)}{e^{x}}. \\ \text{By the Quotient Rule int yst } = \frac{f'e^{x} - fe^{x}}{e^{2x}} = \frac{e^{x} (f'-f)}{e^{2x}} = 0 \\ \text{And } g'_{(x)} = 0 \quad \text{for all } x \quad \text{frees } g \text{ to be a constant } (=c) \\ \text{Thun } \frac{f_{(x)}}{e^{x}} = c \quad \text{meaning } \int e^{x} dx = e^{x} + C \\ \frac{\operatorname{freesence:}}{dx} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \int e^{u} \frac{du}{2} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C = \frac{1}{2} e^{u^{x}} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C \\ \frac{u = x^{c}}{du = 2x \, dx} = \frac{1}{2} e^{u} + C \\ \frac{u = x^{c}}{du = 2} = \frac{1}{2} e^{u} + C \\ \frac{u = x^{c}}{du = 2} +$$

§ z. The natural logarithm:
Definition:
$$\ln (x) = \log_{e} (x)$$
 so $y = \ln(x)$ means $e^{b} = x$
Proposition: $\ln (x)$ is infinitely differentiable and $\frac{1}{dx} \ln x = \frac{1}{x}$
Publy? Use implicit differentiation $m e^{b} = x$ $y = y(x)$
 $\frac{d}{dx} = e^{b} = x$ gives $e^{b} y' = 1$ so $y' = \frac{1}{e^{b}} = \frac{1}{x}$
Properties of $\ln (x)$:
. Stopes of tangent lines for $e^{x} = \ln x$
 $\frac{1}{dx} = \frac{1}{dx} \ln (x)$:
. Stopes of tangent lines for $e^{x} = \ln x$
 $\frac{1}{dx} = \ln (x)$:
. Stopes of tangent lines for $e^{x} = \ln x$
 $\frac{1}{dx} = \ln (x)$
. Stopes of tangent lines for $e^{x} = \ln x$
 $\frac{1}{dx} = -\infty$ line $\ln x = \infty$
(because e^{-1})
Integration $\int \frac{1}{x} = \ln |x| + C$
Examples: $0 \int \frac{x^{3}}{x^{4}t_{1}} dx = \int \frac{du}{y^{4}u} = \frac{1}{4} \ln u + C = \frac{1}{4} \ln (x^{4}+1)$
 $\frac{1}{dx} = x^{4} \frac{1}{dx}$
(B) Tan $x dx = \int \frac{8\pi x}{\cos x} dx = \int -\frac{1}{2} \ln x + C$
 $\frac{1}{dx} = -\ln u + C$
 $\frac{1}{dx}$

• Kuy fact If
$$a = e^{b}$$
, then $a^{*} = (e^{b})^{*} = e^{b*}$
So $\frac{d}{dx}a^{*} = \frac{d}{dx}e^{b*} = be^{*} = (lna)e^{*}$ Low stexponents

L31 (F) Similarly if $y = \log_a x$, then $x = a^3 = (e^5)^3 = e^{53}$ So $\ln x = 5y = \ln(a) y$ so $\log_a x = \frac{\ln x}{\ln a}$ In particular: $\frac{d}{dx}(\log_a x) = \frac{1}{\ln a} \frac{d}{dx} \ln x = \frac{1}{x \ln a}$ Q: Growth of ex & lnx? <u>d</u> e^x = e^x >0 so e^x is strictly incuaring $\frac{d}{dx}\ln x = \frac{1}{x} > 0 \qquad so \ln x$ But how fast do they grow? (We'll we L'Hopital whe to confirm this) 1 $\lim_{x \to \infty} \frac{e^x}{x^n} = +\infty$ for any positive integer n (so express fast than ANY prlynnial) (2) $\lim_{x\to\infty} \frac{\ln x}{x^p} = 0$ for all p > 0 (so $\lim_{x\to\infty} x$ your slower than ANY positive practical power of x , eg x 2, x 3,) 34. Solving Differential Equations Proprition: y'= ky for a fixed k has solutions y = cekx where c is a constant Why? Use reparation of variables dy = ky m dy = kdx $38 \quad y = e^{kx+C} = e^{C}e^{kx}$ So $\int \frac{dy}{y} = \int k dx = kx + C$ constant c To check that there are no more solutions: write $g(x) = \frac{f(x)}{e^{kx}}$ where f(x) solves f' = kf.

Thun
$$g'(x) = \frac{f'e^{kx} - fke^{kx}}{(e^{kx})^2} = \frac{kfe^{kx} - fke^{kx}}{(e^{kx})^2} = 0$$

So g is a constant, that is $f(x) = ke^{kx}$ for some forced e
ss. Topulation quarth
Basic [1od1: Set $N(t) = population at time t (eq. bostona)
Assumptions: unlimited food, us pudation, us deaths (Toy Mobil)
Rate of change of current population: $\frac{dN}{dt} = kN(t)$ k-constant
 $k = preintage of current population invesses.
Then, $N(t) = N_0 e^{kt}$ where $N_0 = N(0) = population at$
 $\frac{k}{4} = \frac{k}{2} = \frac{k}{4} \frac{k}{4}$
 $\frac{k}{4} = \frac{k}{4} \frac{k}{4$$$

$$N_{(t)} = N_{0}e^{kt} = 1000 e^{(4n2)t}$$

$$W_{t} nued to find t with 10^{9} = 10^{3} e^{t4n2} no 10^{6} = e^{t4n2}$$

$$Take la: 6 la 10 = t4n2 so t = 6 la 10 no 10^{6} = 2 15.5 hours$$

$$EXAMPLE 2: In 1970, the world psychatian was 3.6 billion. The Earth weights 6586 1018 the. If the population increases at a nate of 2% program a concared person weights 120 lbs, when will the weight of eff public equal the Earth's weight?
No = 3.6 10^{9} so N_{(t)} = 3.6 10^{9} e^{\frac{2}{100}t}$$

$$W_{t} want t so that 120 N_{(t)} = 6586 10^{18} 2000 (11 the zecoll) 120 + 3.6 10^{9} e^{\frac{4}{100}t} = 6586 \cdot 10^{21} \cdot 2$$

$$So = \frac{5}{100} = \frac{6586 \cdot 2 \cdot 10^{21-9}}{120 + 3.6} = \frac{3298}{108} 10^{12}$$

$$m = t = 50 (ln (3298) + 12 ln (10) - ln (108)) = 1552.92 years$$